% LAPPSET. 902134

CLOXX DATE:  3.5.2013 1(2)

Copyright Lappset Group Ltd

(1) 901803 |pcs|(2) 901994 |pes

DET 1, 2, 3, 4, 5, 6, (8) ®/

M12x90 2190
(3) 902096 |pes|(a) 902234 [pes
DET 8 @/ 4 | 6]
— M12x120 | | M2 | |

X

L\ @ L R

DO NOT TIGHTEN THE ] ]
JOINTS UNTIL THE T ]
STRUCTURE IS COMPLETE.




% LAPPSET.

902134

CLOXX DATE: 3.5.2013 2(2)
DET 1 DET 2 DET 3
FIRST BOLT
~ FIRST BOLT INSTALLATION
— 1% ( 3 INSTALLATION TMOX‘ SONm.
\ Max. 20Nm.
T
LAMINATE OR WQOD ’\/H 2><9©
(901803)
M12
(902234) (902234)
DET 4 DET 5 DET 6

901994

901994

Max. 20Nm.
M12x120
( )

FIRST
BOLT
INSTALLATION

Max. 20Nm.

MT2
(902234)

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7 902157 or DET 8 902157 or

904747 904747

FREE HOLE FREE HOLE

Copyright 1998 Lappset Group Ltd




% LAPPSET.

A-MODULES

CLOXX FLOOR (SLIDE) pate:  16.10.2013 1(3)
(O A00796 |(O) P05270 [pes|(C) 902124 |pes|(C) 902232 |pes|(C) 902233 |pes|(C) 980161 |Pes| pes
1 12 6 12
7o , *@>
| | s \w
> 5 =
1 150x50x50 | | M10x55 M10x30 | | Mo | | B
pes(0) 909109 [pes|() 905090 (O 980154 |pes|(0) 909248 |pes|() 905115 |pes]
2 2 2 2
@&
\mi¢,
] wmi2zxa0 | | @45 g24/13 | | w2 | | es2 | ]

4
T

a)

+ O
COppSCT—onoap—Cta

paacielad |
LILA® LAY

NP AR®




%8 LAPPSET.
CLOXX FLOOR (SLIDE) paAte:  16.10.2013 3(3)

A-MODULES

MT2x40

(909109)

904810

905090

@24 /13

(980154)

MT2

(909248)

9005115

/

ATT I MAX GAP betweén plate

and tube is 6mm

HUOM ! MAKSIMI VALI lattialevylld
ja putkella on 6mm

(902233)

902124

(980161)

MTO

~NT

KAYTA TARVITTAESSA SAMAA LEVYA
VASEMALLE TAI OIKEALLE.

IF NECESSARY USE SAME PLATE LEFT
OR RIGHT.

+ O

1(\00 | PSTE

gt ol
Op Yy tgiTc

Jooapp3tt—oroup——tG

a)

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya
paria samassa liitoksessa.




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



Copyright Lappset Group Ltd

% LAPPSET.

CLOXX

704014

DATE:

24.5.2012

1(2)

(2) 909519

50x380x380

PCS

(4) 909637

S
\m#

M10

(6) 909639

F

M10x25

+870

+0

H
L

600

597

|
—




Copyright 1998 Lappset Group Ltd

% LAPPSET.

704014

CLOXX DATE: 24.5.2012 2(2)
DET 1 DET 2 1 OxO
220 /10.5
909519
320/10.5

DET 3

M12x120
(902096)

901994

DET 4 (902253)

\\&a M8x190
Al <mwmm>Z
.

905117

ﬁﬁ ﬂ 902196
7 > é//%F%W 0
é{?%) O 905@25\\ o CEUE
o, "X o2 | X\ 902273
ey M1 2 S
\\ — (902234) “e M8
(980150)
904513 M10x30 00510
(902233) —
M10x55
(902232) d
J 235
;E: —r= {;S
4




8 LAPPSET. 704159
CLOXX DATE:  16.5.2012 1(2)

(2) 902124 |pcs

150x50x50
(4) 902233 |pes|
~N 2
Na 2
=) <
=)
< ) J';,—' MIOxs5 | | Miox30 | |
\ (5 902273 |pcs|(6) 980161 [ps]
4
S
&
Mo | |
E
- Pes Pes

Copyright Lappset Group Ltd

400

785




% LAPPSET. 704159

CLOXX DATE: 16.5.2012 2(2)
DET V10 DET 2 1o
(980161) 704159 (980161) 902275
. J022/5 902124
g 902124
= ) <

%
M1 0x 30 M10x30
(902233) (902233)
MT1Ox55
M10x55 (902232)
(902232)

DET 4

Copyright 1998 Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

CLOXX

704332

DATE:

O

O

165

450

+270

A

+0

785

16.5.2012 1(1)
(1) 704333 |pes|(2) 902454 |Pcs|
1] > |4
(3) 909111 |pes|(2) 909644 |pcs|
4] 4]
Mi2xtoo | | w12 | |
(5) 980154 |pcs| pes
4] L
024/13 | | ]
PO PeS)
DET 1 B ]
POS| PeS)
DET 1

MT12x100

— (909111)

/04555

902454

24 /13

(980154)

M12
(909644)




% LAPPSET. 704381

CLOXX DATE: 21.11.2012

Copyright Lappset Group Ltd

(1) 704309

DET 3 — 4

LEFT
(4) 902124 |pcs

{ D 150x50x50
\ VX (6) 902233 [rcs
RS 6]
\ /
“
, \ Q)
q Mioxss | | wMiox30 | |
Al (7) 904068 [pcs(B) 904697 |pcs|

260.3x2.9x710
PCs|(10) 904761 |PCs

1] { ]
DET 1,2 | ot ||
: (11) 905083 |pcs|(12) 905112 |pes|
' 29 ‘ 20]
] g2 | | @22 | |
(13 909256 |pes|i4) 909519 [pes|i5) 909637 [pes|i6) 909638 |pcs|
o 20 2 8 16
970 S et el L © ] i
\ \ , > <@) .
916/8.4x1.6 | | 50x380x380 | | Mo | | @20/105 | |
(17) 909639 |pcs|(18) 909852 [pes|(i9) 909855 |Pos|20) 980160 [Pes((2]) 980161 [pes pes
8 8 10] 20] 12] -
) » ) y N\
) 2 ‘
|| || || ® || &
Miox2s | | wmex3o | | wmexss | | w8 [ | wmo | ] B




Copyright 1998 Lappset Group Ltd

% LAPPSET.
CLOXX

704381

DATE: 21.11.2012

2(3)

DET 1
MT1Ox25

@20/10.5

9092519

DET 2

/
/ 7
A

7/ 7 /
////////
/////////////

DET 3

DET 4

=N
SN

905083 7/”5

216,/8.4
YE
905112

90469/

DET 5

/04510
/04511
€S

MBx50  /

905083
216 /8.4
M 8

905112




Copyright 1998 Lappset Group Ltd

% LAPPSET. 704381
CLOXX DATE:  21.11.2012

MBx3> /' 12

(S
905085

%

16 /8.4 «

M&
905112

DET 8




Copyright Lappset Group Ltd

% LAPPSET.

CLOXX

708858

DATE:

11.2.2019

860

/T

O
Mm
—

784

o/

DET 2, 3

(3) 904810

=

pes|(4) 904818

D

(5) 904833

e

@30x565

pes|(6) 909876

Be]
(9]
[%2)

(7) 980152

o
Q

(870-1470—1970-2070)

|

DET 6

(1) 909855

7

M8x35

o
Q

(12 910683

<

211

=
9]

(3 909850

3

784

M8x25




Copyright 1998 Lappset Group Ltd

8 LAPPSET. 708858
CLOXX DATE: 11.2.2019 2(2)
DET 1 DET 2 904818

In
side
Sisdpuoli.

e

M12x120
(902096)

901994

904810
Asennetaan
runkovaiheessa.
Be installed
frame in step.

MEx40

(909876) |

&

4 904810
“ e e N M2 704696
’ (902234) /0469 7/
DET 3 M12%x120 DET 4
% % (902096)
\ 901994
M8x50
(900498)
904818 p24/8.4
(980152)
M1T2
(902234)

DET 5

909855

w24 /3.4
980152

MEXZ2S
909850

MEx40

(909876)




Copyright 1998 Lappset Group Ltd

% LAPPSET SLIDE METAL

DEEP FOUNDATION DATE:  11.2.2019 1(1)
(O 707133 |pes|(O) 901868 |Pos|(1) 909210 |pes|(2) 905051 [pes|
1 2 4 4
]| o
10x80x745 | | @30x598 | | M8x40 | | @24/8.4 | |




Copyright 1998 Lappset Group Ltd

% LAPPSET SLIDE METAL
DEEP FOUNDATION DATE:  24.11.2020 1(1)
Floor level +19/0
+1970 ﬁ S
L)
| +0 A Z
YO
©
M~
|
Floor level +87/0,
+14/0, +20/0
O
L)

+870, +14/0, +207/

[ 1]






